





































































































































P
kPa

fatLig Sat vapor
p 100kPa p lookPa
m O2kg Uf Ug U

A theVolumechange
Ufg Ug Uf

1.6941 0.001043

I6931m7kg

OV MUfg 0.2kg 1.6931m4kg
O 3386ms

b theamount of energy transferred tothewater

Energy theenthalpy ofvaporization atthatpressure

E mhfg CO2kg 22575k51g I bKJ






































































































































Air idealgas
Cu O728kJ1kgk CpCu Rr
12 0.287 kJ1kgK CpCutR

A Statesis idealmixture pa
Ti 25C 17 1802 Neglectany am dissolved in water

p tookPa bi pvn const W
air liqwater 1kg aintwatervapor
v 1ms Va o Tm C Determine the heattransferfromthesurrounding

A States aintwatervapor

P2 Pa am PaWU

T
preRT
p mRTv

Statet TableA4 71252 Psat 3 I kPa

air liqwater pi piwetpe.am 100kPa

e pi air 96.83kPammmm

pili MRT M PNYRT C Volumeoccupiedbyliquid is neglected

man 96.8315Pa Imb I 13kg
0.2871501kgK 298K

State2 path_MRI
pagan MRI

K
d137 0.28711453 1469.1kpa pre 1469.9kPa 111002.8

O l 24719kPa
Ang CaTableA 4 12 1802 s Psw 1002.8kPa

Cbl pVn const W

W f pdV pVn C pivilpakn
i too I M 2471.9 0.17

porkpit 0.97 10
47 g

I N
2471.9 ol Ooga

Nlogo't dog 0
47 g

l 1.393 i N I393mmmm

374.53 KJ
Anscbl






































































































































c Determine theheattransferfromthesurrounding

Energy theenthalpy ofvaporization

OE mhfg OH Q W

Q OH1W T 25C Ta 180C

p 100kPa
Q OHamt OH wvt OHwe 1W air liqwater4kg aintwatervapor

1ms Vz oym3

Mi we 1kg 7 be0.9mi

if all dig water turned intosat.Uapon Us o.imkg

TableA 4 T2 180C 7 Uf 0.001127

Ug 0.19384

UseKlm 0.1ms
Ug V4mzw Mawr Krug o gzg4myg O5t589kgmMz.weI 0.51589 0484kgmmmm

OH am Man Cpt Ti Cp CntR
Cl13kg I 015154kgK 18025k
17778KJ

OHWu Mswv hawir Miwir hiWV F18oz hf 763.05

hfg 2014.2
0.51589kg 180216 Tng 2777.2

929.73 KJ
Xa O

figs 19 0.51589 ha.wv hftxachf.gl
OH we M2wdhawe Miwehiwe tlfo2 hn

0.484 763.05 l 104.83
264.48KJ

Q foH amt oH wvt OH wetW

177.78 t 92973 26448 t 37453

09746KJ Ans cc


